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MATCH CORRECTLY (Group B)

Justified ___ Passed on all men
Saved ___ A figure of Christ
Sin ___ By Christ’s righteousness
Death ___ By Christ’s blood
No law ___ By one offence
Adam ___Made offence abound
Condemnation __ Caused death
Life ___ From God’s wrath
Law ___Reigns thru righteousness
Grace ___No transgression
YES OR NO

. Does Paul teach justification by faith only?
. Is peace with God possible without Christ?
. Is that which is accessible to all always accepted by all?
. Would you willingly die for a righteous man? A good man?
. Are children who die in Adam safe in Christ?
. Is physical death a result of Adam’s sin?
. Can you see wherein Adam is a figure of Christ? (1Cor.15:45-9)
. Can you think of ways wherein Christ and Adam differ?
. Does Christ more than off set Adam’s sin?
Did the law enter to justify condemned man?

TRUE or FALSE

. Justification, reconciliation, hope and peace are in Christ.

. One man’s sin brought death to all: one’s righteousness can
save all.

. Adam is the head of the physical family: Christ is the head of
the spiritual family.

. One offence brought death, but Christ’s grace covers many
offences.

. All men who die in Adam will be raised to life. (John 5:28-29)

. Without Christ, Jews and Gentiles are alike condemned without
hope.

. If one sin brought universal death, one sin can condemn us.
(Revelation 21:27).

. Paul teaches that we must all answer in judgment for Adam’s
sin.

STUDIES IN ROMANS

Romans 5

RESULTS OF JUSTIFICATION; ADAM’S SIN BROUGHT DEATH;
CHRIST GIVES LIFE

v® 4wl How

From what shall we be saved?
why?vo)

we reconciled to God?
By what saved?

Why?

Upon whom has death passed? (v.12) Why?
When is sin not imputed



10.

I11.

Of whom was Adam a figure? _
How is Adam’s offence off set by Christ? (1Cor. 15:21-22)
(v.15)

How many offences brought condemnation? (v.18)
How many does Christ’s gift cover?
How are all made sinners? (v,19)
How are all made righteous?

Why did the law enter?
What abounds more?
reign?

Through what?

SELECT THE CORRECT ANSWER(S)

1. InJesus Christ we: 1) are justified; 2) have peace with
God; 3) have access to grace; 4) rejoice; 5) have hope of
God’s glory.

2. Christ died for us when we were: 1) without strength; 2)
godly; 3) sinners; 4) enemies;.

Christ died to: 1) justify; 2)reconcile; 3) bring death; 4)
give joy to; us.

3. Christians glory in: 1) works; 2) self; 3) tribulations.

4. Because of the: 1)sin; 2) offence; 3) disobedience : of

one all died.

5. Because of the: 1) grace; 2) righteousness; 3)
obedience; of one all raised

6. No law demanding death was given from: 1) Adam to
Moses; 2) Moses to Christ; 3) Christ to eternity; proves
all die in Adam.

7. 1) Many; 2) two; 3) one; offences brought death.

8. Christ’s graces covers: 1) Many; 2) two; 3) one;
offence.

9. Those who shall reign in life are all who: 1) are raised
from the dead; 2) receive grace of righteousness; 3) sin
against grace.

10. Sin reigns unto: 1) righteousness; 2) death; 3) life. (v.17)

11. Grace reigns unto: 1) sin; 2) death; 3) life.

12. Grace reigns through: 1) disobedience; 2) righteousness;
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3) law.

13. Christ will : 1) partially; 2) conditionally; 3)
unconditionally; raise all from the grave (John 5:25, 28-
29).

14. Those who: 1) reject; 2) neglect; 3) receive; grace will
reign to life. (v.21)

MATCH CORRECTLY (Group A)

Christ ___In tribulation

Grace __ Works experience
Glory __Works hope
Tribulations __Isgivenus

Patience ___ Peace through Him
Steadfastness =~ Makes not ashamed
Approvedness  Commended His love
Hope __Works patience

Holy Spirit __Is by faith

God __Works approvedness
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